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M1 X 20179 % A - M2 0iasSH & 3AHEZ LA NLE = JA=s FHOH2 s 20 (ol M)

-+ =2 Ng - HE0&tEN 2 Al Xt Bt N
g A 373,608,995 11,208,270
& B3 Al 359,104,903 10,773,147
SEE3A 14,504,092 435,123
JIEtSE 3 14,504,092 435,123
FUASTNELYUSATEISSESA 2,125,961 63,779
E2sHII=SEAA 965,219 28,957
Aot=2el EE 3 A 1,545,219 46,357
FAUHESEIA 8,958,116 268,743
SO0 ANHEANEHXNZAELE S A 303,756 9,113
MHEHIESNSE3 A 598,014 17,940
JIBEAIE S8 3 A 7,807 234

M2 X2 N -AHE oae BAsE €8 "MY - NS ola"D 20,

M3 & Bt/ H olbldl= 10,501,380 @ 22 &L,

M4 & e NEgaist= 2,100,000 222 &L,




